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5. Factor these expressiﬂns so that the variable appears only once. For example,
x + 0.05x f:;u:t s into x(1 + 0.05).

L X + Ay \ b\ - 0184 @ c.\x + 0.08125x d. 2u _, — 0.85u,_,

Myt
A(1-0)8) wﬁ'm

6. Suppose the initial height from which a rubber ball drops is 100 in. The rebound

heights to the nearest inch?[}, 64, 51, 41,....

a. What is the rebound ratjeffor this ball? ()
b. What is the height of the tenth rebound?
c¢. After how many bounces will the ball rebound less than 1 in.? Less than 0.1 in.?

Reason and Apply

7. Suppose the recursive formula un = 100 and u, = (1 — 0.20)u,_, where n = 1

11 1 = 1 11 o WL 11 * i~ |

—
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Review

17. The population of the United States grew 13.20% from
u ‘ - Q OOO 1990 to 2000. The population reported in the 2000 census

was 281.4 million. What population was reported in 19907
_ Explain how you found this number.
' ‘q r} & 18. An elevator travels at a nearly constant speed from the
U 251 7 p
— —erotmid level to an observation deck at 160 m. This trip
takes 40 s. The eleva‘l:g back clnwn is,also at this
I'B -20 /{0 _ ' :320 Cr__qame cnnstanz d 2/ aﬁ
) ' a. R-M’hat is thebdevator’s speed imfneters per second?
(\ p Ia@ cl‘%?[t take the elevator to reach the
v 1 restaurants! ed 40 m above ground level? (@

‘ \ 3?_) c. Graph the height of the elevator as it moves from

A~
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